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1 Introduction

In RAN4#AH5 meeting, the consistence of simulation result from different companies is not very good [1]. The simulation assumption and methodology should be reached at a consensus before making a decision. [2] provides the relay uplink simulation methodology. [3] gives brief summary of existing simulation assumptions. In this paper, we want to make clear the throughput loss calculation of the existing coexistence scenarios.
2 Discussion
In [4], single system with RN is the priority scenarios. So the throughput loss of downlink and uplink of the following two scenarios are analyzed.
1) Aggressor with RN and Victim without RN

There are two options to calculate the throughput loss.
Option 1: Throughput loss= T1-T2.
Option 2: Throughput loss= T3-T2.
T1: Throughput of victim system without aggressor system (single system).

T2: Throughput of victim system with aggressor system which has RN.

T3: Throughput of victim system with aggressor system which hasn’t RN.
a) Downlink

With the ACIR of RN growth, the interference of RN decreases to zero. So the throughput loss of Option 1 is close to throughput loss of LTE vs LTE coexistence result with ACIR=33, and the throughput loss of Option 2 is close to zero. The aggressor system shouldn’t cause the throughput loss of victim system to exceed 5% even though interference from aggressor RN is added to the victim system. So we propose the Option 1.
b) Uplink

In uplink scenario, the interference from the RN backhaul link should be added to the victim system. The RN backhaul link can be taken as an UE. So we propose the Option 1.
Propose 1: For Aggressor with RN and Victim without RN, we support adopting the Option 1 to get the throughput loss.
2) Aggressor without RN and Victim with RN

There are two options to calculate the throughput loss.
Option 1: Considered throughput loss of the Macro Cell and RN.

Option 2: Only considered throughput loss of RN.

a) Downlink

In this scenario the ACS of RN backhaul link is evaluated. The ACS of MUE is confirmed in 36.942. So only the throughput loss of RN backhaul link should be considered. We support using the Option 2 to get the throughput loss of downlink. 
b) Uplink
The throughput loss of victim system is produced by the MUE->eNB, RN backhaul link ->eNB, and RUE-> RN access link. The throughput loss of MUE->eNB is confirmed in 36.942. The RN backhaul link can be taken as an UE. So the RN backhaul link ->eNB has the same throughput loss as the MUE->eNB. Based on these analyzing, in this scenarios only the throughput loss of RUE-> RN access link should be evaluated. We support the Option 2 using the Option 2 to get the throughput loss of uplink. 
Propose 2: For Aggressor without RN and Victim with RN, only the throughput loss of RN should be considered.
3 Conclusion
In this contribution, throughput loss calculation of existing simulation assumptions is provided. Based on the analysis, we propose following throughput loss calculation.
Propose 1: For Aggressor with RN and Victim without RN, we support the Option 1.

Propose 2: For Aggressor without RN and Victim with RN, only the throughput loss of RN should be considered.
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